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Test 1

A. In each sentence, select the one correct answer.

1. Economics __ ascience.

a.lis b. are c. be

2. The UK. an economic system based on private
enterprise.

a. have b. has c. to have

3. As a scientist, the economist in measuring the
services which people render to each other.

a. interests b. interested c. is interested

4. Certain commodities have a__ market than others.

a. more wide b. widest c. wider

5. The market price the point where supply and
demand meet.

a. shows  b. show c. showed

6. In 2024 the Bank 25% of its available assets in

manufacturing projects.
a. has invested b. invested  c. invests

7. Banks can money from their customers in two
distinct forms: on current account and on deposit account.
a. to receive b. receiving  c. receive

8. Their business operates
a. successfully b. successful c. success

9. The economist __ to explain how the economic system
works.

a. tries b.try c.totry

10. Last year this company farmers with high-quality
machines at a reasonable price.

a. providing b. provided c. provides



11. In today’s seminar we the economic problems of

farming.

a. are discussing  b. are discussed c. discusses

12. In theory, four kinds of monopoly.

a. there are b.itis c.are

13. The economic freedom of a person by laws and

economic freedom of others.
a. limits b. limited c. is limited

14. In last issue of our journal we the economic
system of the USA.

a. analyzing b. were analyzed c. analyzed

15. The manager __ work next month.

a. will beginb. began C. begin

16. We should ___that food production and distribution are

the basic activities in any economy.
a. understanding  b. be understanding c. understand

17. Money ___ both means of exchange and measuring
labour.

a. are b.is c.do

18. States always important basic commodities.

a. monopolizes b. monopolize c. are monopolized
19. The American economic system on free market
principles.

a. is based b. bases c. is basing

20. the budget for the next year the government

analyzes the economic situation in the country.
a. plans b. planning  c. planned

B. Which of the given Ukrainian sentences corresponds to the
English one?



21. The company invested much money into scientific

projects.

a. KommnaHist iHBecTyBasia 3Ha4H1 KOIITH B HAYKOB1 MPOEKTHU.

b. Kommanis Oyze iHBecTyBaTH 3Ha4Hi KOIITH B HAYKOBI
MIPOCKTH.

c. Kommanis iHBecTye 3HaYH1 KOIITH B HAYKOBI MTPOEKTH.

22. After the presentation we’ll have a very important

meeting.

a. [Ticns mpe3eHTarii B Hac Oyna Ty>ke BayJIUBa 3yCTpid.

b. IMicas npe3enTanii B Hac Oy/e AyKe BaXKJIMBa 3yCTpid.

c. I[Ticst mpe3enTartii B Hac BiOyBa€ThCS Ty)Ke BaXKJINBA

3yCTpid.

23. Does he work in our department?

a. Bin mpairroe B Hamomy Bigini?

b. Bin mpaitoBaB B HaIomy Biaii?

C. Bin Oyne mpairoBaTé B HaIoMy Biiii?

24. With the new manager our firm doubled its profit.

a. 3 HOBUM MEHEKepOM Halia Gipma Mo BOIiTh NPUOYTOK.

b. 3 HOBUM MeHeKepOM Hallia (ipMa MoIBOIOE MPHOYTOK.

C. 3 HOBUM MEHE/XKepoM Hata ¢ipma 1nojBoijaa npuOyToK.

25. We won’t change our plan.

a. Mu xo4emMo 3MIHUTH Hall IUIaH.

b. Mu He OyaeMo 3MiHIOBATH TUIaH.

C. Mu He 3MiHIOBAIIU TUTaH.

C. Complete the sentences with the appropriate auxiliary verb.
a.is Db.did c.does d.was e.will f.do g.be h.are
26. How ___ the bank make its main profit?
27. __ the national economy of the USA suffer from the
crisis in 2008-2009?



28. We discussing economic problems.

29. This enterprise _____ not produce enough machines last
year.

30. Why _ most people work?

31. How much profit __ the enterprise get next year?

32. No one participant of the economic system can
absolutely free.

33. What __ we call the work which people do?

34. This machine produced by our plant last year.

35. The science of economics __ based upon the facts.

D. Fill in the gaps with the appropriate prepositions.
a. for b. in(2) c.of d.on e.by f.to
g. within h. over i. from

36. He is interested _ Economics.

37. They paid quite a lot of money __that car.

38. The supply ___ furniture and household goods can be
adjusted to suit the market.

39. The employer pays money __ the worker.

40. How much do you spend __ food monthly?

41. In economics, money is a standard ___ which the value of
things is judged.

42. The law permits certain producers, authors and inventors

a full monopoly ___ the sale of their own products.

43. Most national authorities monopolize the postal services
_____ their borders.

44. There is always an element of risk ___ providing capital
for new business.

45. The practical problems business are different __ the
theory.



E. Match the words in A with the words or word combinations
which mean the same in B.

A B
46. produce a. boss
47. buy b. basic needs
48. essential commodities  ¢. manufacture
49. employee d. acquire
50. employer e. worker

Total ECTS mark Mark




Test 2

A. Match the words in A with their opposites in B.

A B
1. reduce a. expensive
2. sell b. loss
3. stable C. increase
4. cheap d. fluctuating
5. profit e. buy

B. Choose the word which best completes each sentence.

a. economics d. economic
b. economist e. economical
c. economy

6. To buy the most expensive materials and machinery is not

7. This term we started studying .
8. Adam Smith is a famous

9. The of the country recovered after the crisis.
10. The political situation influences the development
significantly.
f. consume i. consumable
g. consumer J. consumtive
h. consumption
11. To save our planet we must reduce the _ of natural
resources.
12. The __ demand stimulates demand on the market.
13. Most goods are not ___ after the expire date.



14. A wants high-quality goods at a reasonable price.
15. Nowadays people in the developed countries too
much sugar.

C. Match the words in A with their Ukrainian equivalents in B.

A B
16. market a. mpare/1aBenb
17. supply b. puHOK
18. goods C. €KOHOMICT
19. employer d. mpomo3uitis
20. money €. 3a0e3neuyBaTH
21. demand f. ToBapu
22. labour g. IPOMUCJIOBICTh
23. economist h. mina
24. services I. Tpori
25. consumer J. eKoHOMiKa
26. manufacturer K. momut
27. industry |. cioxxuBau
28. provide m. mpars
29. price N. moCIIyru
30. economy 0. BUPOOHUK

D. Match the word combinations in A with their Ukrainian
equivalent in B.
A B

31. to earn one’s living

32. economic activity

33. underdeveloped countries

34. basic needs

35. open market

. KOJIMBaHHS LIH

. IpUBaTHA BJIACHICTh
. EKOHOMIYHA cBO0OO/a
. 3MiIIaHa EKOHOMIKA

®© O O T Qo
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36. economic freedom f. HaIlOHAIBHI EKOHOMIYHI

37. private property YMOBH

38. fluctuation of prices g. OCHOBHI NOTpeOH

39. national economic h. 3apo0usiT Ha KUTTSI
conditions i. eKOHOMIYHA JisUIBHICTE
40. mixed economy J. BUIBHHI PUHOK

E.. Complete the CV text using the following words and word
combinations.

CcVv
41. Name a. English, French
42. Date of birth b. British
43. Nationality c. Military history, football
44. Education d. Loopers, Chartered Accountants,
45. Qualifications 1990-94;
46. Experience Gabstock and Thring, Chartered
47. Current position  Accountants, 1994-2002
48. Responsibilities e. Assistant Manager, Power
49. Languages Enterprises UK
spoken f. John Warren Webster

50. Leisure interests g. 08.09.1972

h. MA in Politics and Economics,
1988

i. General management of the
company. Achieved 25% growth per
year over the last 4 years

j. Bootham School, York, 1980-84;
Keyble College, Oxford, 1985-1988.
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Test 3

1. We market survey and can make a decision now.

a. have carried out b. have to carry out c. will carry out

2. | contact members of the management committee.
a. others  b. another c. the other

3. Everybody _ where their office is situated.

a. know b. knows c. is knowing

4.1 this talk into three parts and now | want to share
them among you.

a. have divided b. has divided c. be dividing

5. Our office two years ago.

a. renovated b. was renovating C. was renovated
6. I’d like to accept your invitation but unfortunately there’s
been a change of planandso | to decline it.

a. ‘1l have b. should have Cc. must

7. We our new product on groups of consumers
already.

a. has tested b. have a test c. have tested

8. on our main business we sold off our peripheral
businesses.

a. concentrating  b. concentrate c. concentrated

9. The chief about the market situation in time.

a. was informed b. were informed c. inform
10. We ___ carry out market surveys regularly.

a. are b. are to c. have

11. a good specialist he deals with all the major
aspects of the company’s strategy.

a. be b. being c.to be

10



12. There was a fall in demand and we to reduce our
sales to the average level.

a. were forced Db. were forcing c. have forced

13. I’m afraid she isnot here —she ___ on holiday until next
Monday.

a. has been b. is having c.is

14. Let’s look at strengths and weaknesses of each applicant
and we a shortlist.

a. made b. will make c. have made

15. Analyzing the balance sheet _ see the financial health
of the enterprise.

a. one can b. it’s possible C. one

16. It’s not surprising he’s working less hard. He = to
leave the service.

a. is going b. goes c. will

17. We a new product last month.

a. have launched b. launched c. will launch

18. This year he has gained money than ever.

a. more b. most c. much

19. This company has got many vacancies. They _ the
personnel for a new department.

a. are recruiting b. recruits C. are
recruited

20. The situation in their company is completely different.
They  the business strategy.

a. are changed b. have changed c. have been
changed

B. Complete the sentences with the appropriate auxiliary verb.

11



a. have b. did c. has d. will e.
was

21. _ he accomplished the project yet?

22.He ____ seenin the office an hour ago.

23. __ you go to the business seminar last month?
24. Our department __ start a new project next week.
25. 1 never been to their office in Kharkiv.

C. Complete each sentence with the necessary word.

a.a b. an c. the d. some e.
any

26. Usually foreign companies have __ problems in Asia.

27. Have you received __ documents? | sent them 2 days
ago.

28. I’ve got an idea! I must fix it. Do we have ___ paper?

29. Would you like __ cup of tea?
30. Finally he got rich and bought airplane.

31. Your plan is clear. We don’t have  questions.

32. Last month we started manufacturing __ new product.
33. __ meeting was very fruitful.

34. Thereis ___ new bank department round the corner.

35. Would you like coffee?

D. Fill in the gaps with the appropriate prepositions (if

necessary).
a.in (2) b.to (2) c. after d. between e. -
f.at  h.with i.on

36. These meetings always start late. Could everyone make
an effort to arrive time.
37. He reports directly Mr. Nannsen himself.

12



38. I look a department of about 30 people.

39. Our department is also involved_____ two international
projects.

40. She’s working _a very important account at the
moment.

41. | listen carefully _ what our customers say.

42. He also monitors ___ the general situation in the
market.

43. The chief accountant handles___ the major accounts
herself.

44. There is clearly a strong link __ pay and productivity.

45. We need a much stronger focus __ needs of our
customers.

E. Mark the ‘odd’ one out in each of these groups of business

words.

a b C d
46. firm company enterprise | chief
47. plant factory office works
48. sell make produce manufacture
49. client customer consumer | employee
50. salary research pay income

Total ECTS mark | Mark




Test 4

A. Mark the ‘odd’ one out in each of these groups of business
words.

a b C d
1. manager profit executive | business person
2. export division section department
3. assistant bookkeeper deputy subordinate
4. timetable plan schedule market
5. staff personnel product workforce
6. aim target reach objective
7. sack dismiss hire fire
8. lay off employ take on recruit
9. busy engaged unavailable | employed
10. discuss call phone ring

B. Each of the given words is the opposite of an underlined word.
Complete each sentence with the correct word.

a. loss b. fire c. fall d. sell off e. reduce

11.It’s simple: we have to increase our pricesand ___ our
Ccosts.

12. It’s easier to hire people when times are good than to
____them when times are hard.

13. You can see the general position if you look at the profit
and ___ account in front of you.

14. We expect a rise in sales next year followed by a steady

for two years after that.

14



15. Our strategy is to acquire large, inefficient companies

and then

the profitable parts.

C. Choose the word which best completes each sentence.

a. produce b. production c. producer

productivity

d. productive e.

16. These methods helped us to increase labour
17. These economic measures will support the national

18. Now we can

enterprise.

19. Our today’s meeting was very

all the component parts at our

20. The was decreased as a result of the world’s crises.

D. Match the verbs in A with the sentence-ending from the
column B to make sentences that describe a manager’s
responsibilities.

21.
22,
23.
24,
25.
26.
217.
28.
29.
30.

A
He thinks
He focuses
He motivates
He overcomes
He identifies
He adds
He reduces
He leads
He builds
He resolves

15

B
a. Costs.
b. organizations.
c. market opportunities.
d. changes.
e. performance.
f. results.
g. profits.
h. strategically.
I. people.
J. winning teams.



31. He transforms k. conflicts.

32. He manages and facilitates . obstacles.

33. He measures m. value.

34. He maximizes n. on the customer.
35. He gets 0. by example.

E. Match the word combinations in A with their Ukrainian
equivalent in B.

A B
36. loanable money a. KyIyBaJibHa CIIPOMOYHICTh
37. purchasing power b. mpupoHa MOHOIOTIS
38. national currency C. 3aci® oOMiHy
39. natural monopoly d. HamioHaIbHA BaIIOTA
40. means of exchange €. IpOIIi, IO MO3HYAKTHCS

F. Match the statements about an imaginary country’s economy
in column A (91-100) with their equivalents in column B (a-j).
A B
41. There 20 min. people a. The exchange rate is stable.
in the country who can
work. 1 mln. people don’t
have jobs.
42. Some enterprises are b. The standard rate of income tax
private and some are state- is 30%.
owned.
43. Last year the size of c. The manufacturing sector is
the economy was $100 larger than service sector.
billion. This year it is $101
billion .
d. The unemployment rate is 5%.

16



44. Prices are much higher
this year.

45. Banking, tourism and
insurance are important to
the country’s economy.
46. The production of
machines and tools is the
most important part of the
economy.

47, The economic
situation is now bad. There
is a danger that the
economy will get smaller.
48. Most of people have to
pay about a third of their
income to the government.
49. Today we can buy 10
country’s monetary units
for 1 US dollar. Last year
it was the same.

50. Two million workers
are members of labour
organization.

e. People are afraid of recession.

f. The growth rate was 1%.

g. The economy has a large service
sector.

h. Trade union membership is
about 10% of the whole
workforce.

i. The country has a mixed
economy.

j. The rate of inflation is high.

Total ECTS mark

Mark
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Test5

A. In each sentence, select the one correct answer.

1. A decent balance between work and personal life _ very
highly.
a. rates b. was rated c. were rated
2. Most people say she’s one of the  managers.
a. good b. best C. better
3. So, if we pay an extra $500, you ___us a five year warranty.
a. will give b. give C. gave
4. Would you like me it for you?
a. type b. typed c. to type
5.1 __ sorry to have to say this.
a. be b.is c.am
6. What ___the career structure like where you work?
a. be b.is c.are
7.Sorry, | ___ come yesterday.
a.can’t b. won’t c. couldn’t

8. We __ about 40 vehicles now.
a. are talking b. were talkingc. will be talking
9. She ___ for her creativity.

a. has been praised b. is praised c. had been praised

10. She allowed us __ our own ideas.

a. develop b. developed C. to
develop
11. The next meeting ___in five weeks.

a. will be b. was c.is
12. They ___until next Monday.

a. have finished b. had finishedc. won’t have
finished

18



13. | often with important customers.

a. deal b. am dealing c. will deal
14. Such situations are the ____ frequent in business.

a. more b. most C. many
15. They need __ harder.

a. work b. works c. to work
16. Prospects for the company __ good.

a. s b. are C. be
17. Afax is quicker and ___ than a letter.

a. most urgent b. urgent C. more
urgent
18. You ___ Frau Graber at a meeting in Geneva several
weeks ago.

a. met b. will meet C. meet
19. They __ two magazines by the end of the year.

a. launched b. will launch c. will have
launched

20.He ___animportant company that later became Pergamon
Press.
a. run b. ran C. runs

B. Which of the given Ukrainian sentences corresponds to the
English one?
21. What’s your main concern?
a. Yum BU cTypOOBaHi?
b. Yomy Bu pamiere?
. Horo Bu Ooitecst?
22. It might be quite difficult to make him change his mind.
a. Mloro BaKo 3aCTaBUTH 3MiHHTH CBOIO IYMKY.

19



b. MoxMBO Bakko Oyze MEpeKOHATH HOTO 3MIHHTH CBOIO
JTyMKY.

C. HeoOxinHO mepexkoHaT HOTo 3MIHUTH CBOIO TYMKY.

23. Tell them what your goals are.

a. CkaxiTh 1M, sIKa Ballla METa.

b. CkaxiTe M, ki Bami 1imi.

. CxaxiTh 1M, 0 BU OyJieTe poOUTH.

24. What job did you have before this one?

a. SIky poOOTY BM BUKOHYBAJIU JIO I[LOTO?

b. SIky poboty Bu OyJeTe BUKOHYBATH ?

C. SIky poOOTYy BH BUKOHAIH?

25. Business life is a permanent negotiation with other people.
a. bizHec — 11e mocTiHHI yroau 3 IHIIMMHU JHObMHU.

b. BizHec — 11e MOCTIiiHI 3yCTpiyi 3 IHITMUMH JIFOIBMHU.

C. bizHec — 11e moCTiliHI TEPEeMOBUHU 3 THIITMMH JTIObMHU.

C. Complete the sentences with the appropriate auxiliary verb.

a. has been (2) b. did (2) c. are (2) d.is (3)
e. do

26. How many computer magazines ____ they publish last
week?

27.Where ___he ___living since 1999?

28. __ heinvolved in scandal?

29. How __ results measured?

30. What systems or processes ____ you have for ensuring the
quality of your products or services?

31. What “quality” training ___ given to staft?

20



32. How _ operating staff encouraged to make
improvements to processes and systems?

33.Howlong _ SOFTBANK ___in business?

34, teams employed to deal with quality issues?

35. When ___ you send your CVV?

D. Fill in the gaps with the appropriate prepositions.

a.in (3) b. for (2) c. of d. upon
e. by (2) f. at

36. How many people are involved ___ this business?

37. The advantage ____ direct marketing is that it enables us
to cut out the middle man.

38. What company do you work _ ?

39. Thank you __ your letter of January 27.

40. I’'m sorry about the delay  replying.

41. You met Mr Brown ___ a meeting.

42. How long have been ___this business?

43. What effect does the weather have __ us, people?

44. I’'m sorry, [ was delayed traffic.

45. They will have launched two new products ___ the end
of the month.

E. Match the words in A with the words or word combinations
which have similar meaning in B.

A B
46. you’ll get the job a. personnel
47. definitely b. perhaps
48. staff C. opportunity

21



49. probably d. you’re bound to get the job
50. chance e. exactly

Total ECTS mark Mark
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Test 6

A. Match the words in A with their opposites in B.

A B
1. lose a. fail
2. employment b. remember
3. increase c. unemployment
4. success d. find
5. forget e. decrease

B. Choose the word which best completes each sentence.
a. policy b. politicians
6. As___ go, few are as unforgettable as Margaret Thatcher.
c. investors d. investment
7. This will be welcome news to __ who suffered heavy
losses in 2007.
e. advertisement f. advertise
8. There’san __ in the paper.
e. fall f. fallen
9. GDP had ___ to -0.5% and only managed to reach 0.5% in
the following year.
g. received h. receive
10. We ___the last consignment six weeks ago.
I. describe J. description
11. He had to write hisown job .
k. disagreement . disagree
12. He has a serious ____ with his boss.
m. succeeded n. successful
13. He ___inrunning his business.
0. ignorant p. ignore
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14. Twouldn’t __ the opinions of my colleagues.

g. productivity

r. productive

15. The consultant felt that __ could be improved.

C. Match the words and word combinations in A with their

Ukrainian equivalents in B.

A
16. inflation
17. advise
18. rapidly
19. suggest
20. collaboration
21. advertise
22. taxis
23. stay
24. contract
25. expenditures
26. customer
27. remind
28. decide
29. cause
30. reduce

B
a. paauTHu
b. mBuaKo
C. 1H(pALIs
d. mogarku
€. CIiBpOOITHHUIITBO
f. sanmmmarucs
g. CrOKHBay
h. maragyBatu
I. BUpimyBaTu
J. ckopouyBaTH
K. peknamyBatu
|. BBaskaTH
M. BUTpATH
N. mpuYruHa

0. yroja

D. Match the word combinations in A with their Ukrainian

equivalent in B.
A
31. reduce costs
32. influence on
33. Curriculum Vitae
34. recent recession

B
a. BeJIMKa KIIbKICTh
b. poGounii mepconan
C. pUHKOBUH MEXaHi3M
d. HemaBHii crian
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35. large numbers €. KOMIT FOTePHUHN CJIOBHHK

36. market mechanism f. ckopouyBaTH BHIATKH
37. detected errors g. BU3HAYCHI MIOMMJIKH
38. computer’s dictionary h. 3axumary KoBKULIS
39. operating staff I. BILTHBATH Ha

40. protect environment J. pe3rome

E. Complete the text using the following words and word
combinations.

a. plan b. profit C. success
41. | spent a long time doing research and making business
___before | started the company.

a. download b. losses c. income

42.1had no ___ and all my family and friends worried.

a. anything b. something c. somewhere
43. They couldn’t understand why I wasn’t doing _ , but |
was thinking.

a. over b. with c. from

44. |1 wanted a business I could fall in love .

a. delayed b. unique c. current

45. This business had to be __ and original.

a. mismanagement  b. uncertainty C. reorganization
46. Executives who fail to meet the aspirations of their
employees can be accused of .

a. efficiently b. unusually c. undoubtedly
47. The new measures restrict employees’ autonomy and will
____actasadisincentive.

a. realign b. renew c. involve
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48. A company can ___itself around a clear business goal only
when it succeeds in engaging its employees in that goal.
a. unavoidable b. unlimited c. irreversible

49. The move towards the creation of a shared visionis ____ and
lies at the heart of a people-centered strategy.
a. available  b. bimonthly c. early

50. Our project manager wants us to submit a detailed _
progress report.

Total ECTS mark Mark
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Test 7

A. In each sentence, select the one correct answer.

1. Later that day, the manager _ the woman and asked
her to come back to the store.

a. phone b. phoned c. will phone
2.1 ___ anew quality control program.

a. to set up b. set up Cc. am setting up
3. 'msure, you this place.

a. enjoyed b. to enjoy C. will
enjoy
4. When the factory closed, 2000 people _ redundant.

a. were made b. makes c. to make
5. Our main activities _____ construction, real estate, and civil
engineering.

a. be b.is c.are
6. Our turnover ___ about $10 million.

a. be b.is c.are
7. Currentlywe _ about 8,500 people.

a. employ b. employs c. to employ
8. We __ overseas subsidiaries in Germany and in the UK.

a. have b. to have c. has
9. Our headquarters _____in Stockholm, Sweden.

a.tobe b.are C. was
10. The ___ transaction that most people ever undertake is
the purchase of a house.

a. biggest b. big c. bigger

11. Money, like fire and wheel, _ around for a very long
time.
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a. will have been b. have been C.
had been

12. The sales manager ___ me I should apply to you.
a. tell b. have told c. told
13. 1 often __ with important customers.
a. deal b. am dealing c. will deal
14. I'm much happier at Computex because my colleagues are
___friendly.
a. much b. more Cc. many
15. Theyneed __ harder.
a. work b. works c. to work
16. There __ still many difficulties for credit card
companies that want to expand in continental Europe.
a.is b. are C. be
17. Thisisthe ___ company.
a. most rich b. richer c. richest
18. He __ alot of time with our clients yesterday.
a. spent b. spends c. spend
19. A new product ___in a month.
a. was launched b. will be launched C.
is launched

20. The following figures shows how the consumer dollar

a. is spent b. spends C. spent

B. Which of the given Ukrainian sentences corresponds to the
English one?
21. Human’s economic activity provides people with
excellent goods and services.
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a) ExoHOMiYHA MisTIBHICTH 3abe3neuye HAC BIAMIHHEMH
TOBapaMH 1 MOCIyraMu.
D) o 3abe3neuysand..................

22. Money is a medium of exchange.

a) I'porri — 11e ToBap TOBApIB.

b) I'pormi — 11e 3aci6 oOMinHy.

¢) I'porri — 11e 0OMiH TOBapy Ha TOBap.

23. Psychiatrists and psychologists have explanations of our
behavior in the supermarket.

a) IlcuxiaTpu i MCHUXOJIOTM MarOTh CBOI BIIACHI MOSICHEHHS
HaIOi MOBEIIHKU B CyIIEpMapKeTi.

b) TlcuxiaTpu i MCHXOJOTM MAlOTh CBOI BJIACHI MOSICHEHHS
CTOCOBHO HalIoro BUOOpY TOBapiB.

¢) IcuxiaTpu 1 MICUXOJIOTH BUCBITIIMIIM CBOT MOTJISIIA HA HAIII
BUOIp TOBApIB.

24. Why do we buy and consume so many goods and
services?

a) Yomy mMu xynysanu i cnodxcueéaiu Tak 0arato TOBapiB i
nociyr?

D) v Oy0emo Kynysamu i CRO®CUBAMU................ ?

(o) JUUU KVAYEMO...vvvserarenrnns ?

25. The goal of economic theory is to explain and predict our
consumption choices.

a) MeTa eKOHOMIYHOT TeOpii MoJIArae B TOMY 00 MOSICHUTH
1 mependaunT Hawii npeghepenyii y cepi CroKMBaHHS.

D) oo, HAUL BUOTD ......ecevevranene.

C. Complete the sentences with the appropriate auxiliary verb.
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a.is b.are (3) c. does d. do (2)
e.did f. have been g. will
26. When ___ you get up?
27. Where _____ the flower market situated?
28. Where ___ you from?
29. Why _ he learn English?
30. What line of business ___ you in?
31. __ the students of your University take part in research
last year?
32. ___ you interested in this job?
33.Howlong _ you __ learning English?
34. How often ___ you have breaks?
35. When ___ you start your business?

D. Fill in the gaps with the appropriate prepositions.
a.in(2) b. with c. of (2) d. on (3)
e.to (2)

36. He was very nervous before his talk because he was
unaccustomed __ making speeches.

37. That’s an interesting point you are making but I’'m not
sure it’s relevant ___ the discussion.

38. The Minister said she was confident that there were clear
signs ____economic recovery.

39. __ hot weather the counter staff may remove their
jackets but they mustn’t take off their ties.
40. I don’t feel qualified to comment __ the refinancing

package because | was not involved in the negotiations.
41. The Managing Director disagreed ___the Finance
Director about the direction the company should take.
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42. The advantage ___ direct marketing is that it enables us
to cut out the middle man.

43. What effect will this new directive have __ the
company?

44. The government has spent less __ defense since the
cold war ended.

45. There has been a dramatic rise ___ the Nikkei Index.

E. Match the words in A with the words or word combinations
which have similar meaning in B.

A B
46. look for a. earn
47. obtain b. profit
48. rescue c. search
49. benefit d. payment
50. salary e. save
Total ECTS mark | Mark
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Test 8

A. Match the words in A with their opposites in B.

A B
1. lend a. sell
2. demand b. common
3. buy c. borrow
4. few d. supply
5. rare e. many

B. Choose the word which best completes each sentence.
a. consumers b. consumption
6. Sociopsychiatric theories explain why __ desire certain
goods.
7. The goal of economic theory is to explain and predict these
____choices.
c. profit d. profitable
8. When farming is ___, existing farmers expand their farms.
9. Because of low barriers to entry, economic __ doesn’t last
long in agriculture.
e. maintain f. maintained
10. Competition in agriculture is____ by low barriers to entry.
11. Like other competitive firms, US farmers can _
economic profits only if they achieve continuing cost
reductions.

g. different h. differently
12. Economists say men spend money ____ from women.
13.  factors influence upon people’s choice.
I. succeeded J. successful
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14. Good managers find ways to make their organizations

1_5. They ___in solving the problem.

C. Match the words and word combinations in A with their

Ukrainian equivalents in B.
A
competition
available
obviously
undersell
cooperation
achieve
securities
itemize
aggregate
costs
consumer
experience
disappear
demand
behavior

16.
17.
18.
19.
20.
21.
22,
23.
24,
25.
26.
27.
28.
29.
30.

B
a. JIOCBI
b. 3HuKaTH
C. IOIINT
d. KoHKypeHIIis
€. CIiBpOOITHHUIITBO
f. ckmagatyu nepeik
g. CrOKHBay
h. moBeninka
I. JOCTYIIHHMIA
J. wiHHI manepu
K. mponaBaTu jaenieBIie
|. cymapuuit
M. BUTpATH
N. JOoCATaTH
0. OYEBUIHO

D. Match the word combinations in A with their Ukrainian

equivalent in B.
A
31. opportunity cost
32. in stock
33. advanced machinery
34. labor force

B
a. 3aHETIOKOEHHS TIPO MPECTHK
b. poboua cuna
C. uina BuOopy
d. KOIIKK CHOXUBaYa
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35. factor market €. HaifHATa poboya cuia
36. effective competition f. e y mpogaxy

37. existing resources g. pUHOK (paKkTOpiB BUPOOHUIITBA
38. status concern h. peanbHa KOHKYpEHITis

39. hired labor I. CygyacHa TexHiKa

40. shopping bag J. HasIBHI pecypcH

E. Complete the text using the following words and word
combinations.
a. planned b. plan c. planning
41. People _ todo business in Japan should know a few
things about the country, its traditions and its people.
a. retire b. hire C. provide
42. First of all, you should __ a good interpreter — someone
who speaks the language and who knows the customs and
traditions.
a. should not b. can not c. would
not
43. Many people in Japan shake hands when they meet, but
you __ (93) be too fast.
a. anybody b. somebody c. nobody
44. When __ (98) gives you their business card, you should
look at it and read it carefully.
a. had to attend it b. must have attended it c. should
have attended it.
45. We had a one-week seminar on team building last May.
Maybe they .
a. could b. must c. will

46. But | thought the overall objective __ have been clear.

a. should have dealt b. had to deal c. must have dealt
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47. How do you think she __ with that?

a. must b. may . might
48. The trainer ___ have encouraged everyone to express
themselves.

a. may b. should C. must

49.1don’t think the trainer ___ have spent so much time on such
private matters.

a. predict b. attend C. provide
50. Experts ___ that there will be a marked shift from financial
and technological capital to human capita

Total ECTS mark Mark
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